

<b>Př. 1:</b> $17^2 =$ $358^2 =$ $295^2 =$ $735^2 =$ $978^2 =$ $298^2 =$	<b>Př. 2:</b> $13000^2 =$ $1720^2 =$ $18200^2 =$ $3780^2 =$ $8150^2 =$ $2220^2 =$
<b>Př. 3:</b> $0,25^2 =$ $0,48^2 =$ $0,05^2 =$ $0,017^2 =$ $0,456^2 =$ $0,83^2 =$	<b>Př. 4:</b> $7,28^2 =$ $2,3^2 =$ $18,7^2 =$ $99,3^2 =$ $26,2^2 =$ $8,39^2 =$
<b>Př. 5:</b> $\left(2\frac{7}{9}\right)^2 =$ $\left(\frac{4}{15}\right)^2 =$ $\left(3\frac{1}{2}\right)^2 =$ $\left(7\frac{1}{3}\right)^2 =$ $\left(\frac{15}{17}\right)^2 =$ $\left(\frac{16}{31}\right)^2 =$	<b>Př. 6:</b> $\frac{3}{7^2} =$ $\frac{3^2}{7} =$ $\left(\frac{3}{7}\right)^2 =$ $\left(\frac{5}{9}\right)^2 =$ $\frac{5^2}{9} =$ $\frac{5}{9^2} =$
<b>Př. 7:</b> $1 + 3^2 - 2 \cdot 4 + 7^2 =$ $16 + 9^2 - 5^2 =$ $8 + 3 \cdot 2^2 - 4 \cdot 3^2 =$ $18 - 9 \cdot (4 - 2) + 2 \cdot 7^2 =$	<b>Př. 8:</b> $9^2 - 7^2 - 5^2 =$ $9^2 \cdot 7^2 \cdot 5^2 =$ $11^2 + 9^2 + 7^2 =$ $11 + 9^2 - 7^2 =$

<b>Př. 1:</b> $17^2 =$ $358^2 =$ $295^2 =$ $735^2 =$ $978^2 =$ $298^2 =$	<b>Př. 2:</b> $13000^2 =$ $1720^2 =$ $18200^2 =$ $3780^2 =$ $8150^2 =$ $2220^2 =$
<b>Př. 3:</b> $0,25^2 =$ $0,48^2 =$ $0,05^2 =$ $0,017^2 =$ $0,456^2 =$ $0,83^2 =$	<b>Př. 4:</b> $7,28^2 =$ $2,3^2 =$ $18,7^2 =$ $99,3^2 =$ $26,2^2 =$ $8,39^2 =$
<b>Př. 5:</b> $\left(2\frac{7}{9}\right)^2 =$ $\left(\frac{4}{15}\right)^2 =$ $\left(3\frac{1}{2}\right)^2 =$ $\left(7\frac{1}{3}\right)^2 =$ $\left(\frac{15}{17}\right)^2 =$ $\left(\frac{16}{31}\right)^2 =$	<b>Př. 6:</b> $\frac{3}{7^2} =$ $\frac{3^2}{7} =$ $\left(\frac{3}{7}\right)^2 =$ $\left(\frac{5}{9}\right)^2 =$ $\frac{5^2}{9} =$ $\frac{5}{9^2} =$
<b>Př. 7:</b> $1 + 3^2 - 2 \cdot 4 + 7^2 =$ $16 + 9^2 - 5^2 =$ $8 + 3 \cdot 2^2 - 4 \cdot 3^2 =$ $18 - 9 \cdot (4 - 2) + 2 \cdot 7^2 =$	<b>Př. 8:</b> $9^2 - 7^2 - 5^2 =$ $9^2 \cdot 7^2 \cdot 5^2 =$ $11^2 + 9^2 + 7^2 =$ $11 + 9^2 - 7^2 =$